Smalandsstenars BK
Partavling Arsmotet 2022-12-05

Partavling, 9 bord, 18 par.

Antal brickor: 24. Medel: 192.0.

Plac Par Poang % Namn MID Klubb
1 13 265 69.01 Bo-Goran Alexandersson - Per Lundstrém 82813 82731 Smalandsstenars BK
2 8 255 66.41 Tomas Pettersson - Bernt Eriksson 63978 6978 Gislaveds BK
3 4 224 58.33  Sven-Erik Larsson - Eva Karlsson 36403 88152 Kinnareds BK - Gislaveds BK
4 14 222 57.81 Esko Nylén - Ingvar Johansson 46710 46711 Smalandsstenars BK
5 11 214 55.73  Siv Sandblad - Gerd Lundberg 54273 54364 Smalandsstenars BK
6 1 201 52.34 Lars-Goran Stenberg - Kenneth Andersson 48706 43554 Smalandsstenars BK - Kinnareds BK
7 7 195 50.78 Svenne Gustavsson - Arne Johansson 46105 19454 Smalandsstenars BK - Anderstorps BK
8 5 194 50.52 Lars Larsson - Bengt Ingvarsson 36401 36404 Smalandsstenars BK
9 3 192 50.00 Jan-Olof Johansson - Kerstin Granath 36392 80465 Smalandsstenars BK
10 9 191 49.74  Gun-Mari Bogyvist - Margareta Lundstrém 49465 48288 Smalandsstenars BK
11 10 182 47.40 Ove Enarsson - Arne Johansson 7373 10976 Kinnareds BK
12 18 179  46.61 Per Granath - Jan Johansson 14609 49914 Anderstorps BK - Smalandsstenars BK
13 15 178 46.35 Mats Gunnarsson - Rolf Bengtsson 9495 12597 Atrans BK
14 6 173 45.05 Bengt Soderstedt - Kjell Martinsson 54272 59126 Smalandsstenars BK
15 17 167 43.49 Lennart Heljemo - Kent Johansson 49467 18003 Smalandsstenars BK - Bredaryds BK
16 16 149 38.80 Anders Sveningsson - Jan Samuelsson 61561 49466 Smalandsstenars BK
17 12 138 35.94  Christer Andersson - Klas-Erik Andersson 48289 32035 Smalandsstenars BK - Bredaryds BK
18 2 137 35.68 Berit Theorin - Catarina Steen 57669 49456 Smalandsstenars BK
1 443 2 443 3 4965
Nord v 65 Ost v42 Syd v 10986
Ingen ¢ EDKn5 NS + EK93 ov 4962
#DKn943 #KDKn94 #E108
4 KKn1087 4 E65 4987 4 K102 4E1032 4KD4
v E82 v KDKn73 v D65 v EKKn1083 vKn73 v42
¢10984 +73 +Kn104 ¢ D75 ¢+ E1043 ¢ KKn85
«10 *E76 #E1052 &8 *KKn #9542
« D92 « EDKn65 4 Kn87
v 1094 v97 v EKD5
+ K62 + 862 +D7
#K852 &763 D763
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
9 17 2v O+2 &2 -170 16,0 0.0|13 1 34 S= vQ 140 160 00| 9 14 2vS-1 +3 -50 140 2.0
7 3 29v0+3 v4 -200 140 20| 6 16 4v O-1 3 50 100 6.0|10 17 2v S-1 %] -50 14.0 2.0
10 5 4a V= v6 -420 100 6.0 7 3 4v0O-1 a A 50 100 6.0|13 2 3vyN-1 +5 -50 140 2.0
13 1 4v 0= +K -420 100 6.0 9 17 4v 0O-1 oA 50 100 60| 1 12 2vy N-2 *4 -100 90 7.0
15 2 4v 0= *2 -420 100 6.0(12 11 4v O-1 LX) 50 100 60|16 7 3vy N-2 +8 -100 9.0 7.0
14 8 4v O+1 &2 -450 50 11.0(15 2 3v0O-1 *7 50 100 6.0|11 6 3¢ V= v6 -110 4.0 12.0
18 4 4vQO+1 v4 -450 50 11.0(10 5 3vO= *7 -140 20 14015 3 2¢ O+1 vA -110 4.0 12.0
6 16 4y O+2 &2 -480 20 140|14 8 3vO= LX) -140 20 140|118 5 2¢ O+1 vA -110 4.0 12.0
12 11 49y O+3 42 -510 0.0 16.0(18 4 3vO= *7 -140 20 140| 8 4 1aV+2 vT -140 0.0 16.0
4 « EKD104 5 4762 6 4 K5
Vast v K63 Nord v K987 Ost vKn765
Alla + D54 NS ¢ Kn62 ov ¢+ Knl0
282 #E63 #98632
492 a- 4 DKn1098 & K543 41098 #EKn73
vKn982 vD104 vD3 vE4 v43 vD1098
¢E72 + Kn109 ¢85 + 1097 ¢ D9543 ¢ EK6
#E764 #KDKn10953 #10842 #KDKn5 #1074  #KKn
4« Kn87653 +E 4 D642
vE75 v Kn10652 v EK2
+ K863 ¢ EKD43 ¢ 872
»- *97 &ED5
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
13 2 44 N+2 #K 680 16.0 00| 4 15 4vS+2 «Q 680 150 10| 4 15 2# N= ¢ A 90 150 1.0
1 12 44 N+1 &K 650 110 50| 9 5 4v S+2 +8 680 150 10(13 3 2&#N= +K 90 150 1.0
15 3 44 N+1 #K 650 110 50(13 3 3vS+3 «Q 230 120 40| 6 18 1a S-1 +3 -50 12.0 4.0
16 7 44 N+1 #K 650 11.0 50|16 8 3vS+2 «Q 200 100 6.0|14 10 2NO= a2 -120 100 6.0
18 5 44 N+1 &#K 650 11.0 50(14 10 3¢ S+1 «Q 130 80 80| 2 1 INO+2 44 -150 40 120
11 6 44 N= +K 620 6.0 10012 7 34V-2 *J 100 6.0 100| 9 5 2v N-3 ¢ A -150 4.0 12.0
8 4 34 N+2 &K 200 40 120 6 18 44 O-1 v7 50 40 12012 7 2NO+1 &2 -150 4.0 12.0
10 17 54 O-1 vA 100 20 14.0|17 11 24 O= *7 -110 20 140|16 8 24 S-3 +3 -150 40 120
9 14 54 N-1 *9 -100 00 160 2 1 24 V+1 vK -140 0.0 16.0|17 11 INO+2 #2 -150 4.0 12.0
7 4 E10984 8 4 D986543 9 4 ED72
Syd v 872 Vast v93 Nord v43
Alla +E Ingen +3 ov 4976432
#DKn73 #E108 *6
4 KKn73 452 4 EK107 &Kn 43 & KKn85
v EKn v K10643 vK v EKn1065 vK5 v Kn987
¢ Kn95432 ¢ K106 ¢+ KKn764 ¢ D85 ¢ EKD105 ¢ Kn8
*5 *K86 #DKn2 #7653 #K9842  #Knl05
«D6 a2 410964
v D95 vD8742 vED1062
+ D87 ¢ E1092 ¢-
#E10942 K94 #ED73
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
10 6 24 S+2 vA 130 160 00| 3 2 3NV-1 49 50 140 20|13 5 24S= *2 110 150 1.0
14 11 24 S+1 2 110 13.0 30| 7 18 3NV-1 48 50 140 20|14 12 2v S= ¢K 110 150 1.0
17 12 34 S= 2 110 130 30|13 4 3NV-1 46 50 140 20| 4 3 3aV-1 v3 100 11.0 5.0
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3 2 3¢V-1 «A 100 100 6.0|15 5 34 N-1 ¢5 -50 90 7.0|11 7 2¢ V-1 v3 100 110 5.0
13 4 4+S-1 vA -100 70 9.0[{16 9 34 N-1 ¢ Q -50 90 7.0|15 6 34S-1 ¢ A -50 70 9.0
15 5 4#S-1 vA -100 70 9.0|10 6 2NV+1 4 -150 6.0 10017 1 34S-1 +K -50 70 9.0

1 8 3¢V= 4 A -110 40 120| 1 8 3NV= 8 -400 30 13.0| 2 9 2 V= v3 -90 4.0 120

7 18 34 N-2 +8 -200 1.0 15.0|17 12 3NV= 49 -400 3.0 13.0|10 16 3v S-2 vA -100 20 14.0
16 9 3NS-2 +3 -200 10 15.0|14 11 54DN-3 ¥vA -500 0.0 16018 8 2¢DV= ¥v3 -180 0.0 16.0
10 « DKn3 11 8 12 «D10
Ost vE10754 Syd v Kn10943 Vast v Kn962
Alla + D98 Ingen + KD1084 NS *+ K

*97 «D6 #1096543
410765 &E82 4 E65 4 K974 4 K93 « EKn8652
vK632 v98 vD8 ¥ 7652 vD853 v10
¢ 764 ¢ EKn2 #9753 462 ¢ EDKNn9 ¢ 7532
*K2 #EKn643 #E1092 #Kn53 «D8 *72

» K94 « DKn1032 474

v DKn vEK v EK74

¢ K1053 ¢ EKn ¢ 10864

+D1085 K874 #EKKn

Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr ut Res Poang

2 9 INO-3 ¢5 300 150 10| 3 10 3NN+2 v2 460 150 10| 5 4 440-2 «K 100 150 1.0
10 16 3 0O-3 +3 300 150 10|18 9 3NN+2 &7 460 150 10|13 6 44 0O-2 «A 100 150 1.0
11 7 240-2 ¢5 200 11.0 50|12 8 4vS+1 5 450 120 40|18 9 2¢ V-1 v6 50 120 4.0
14 12 2NV -2 v4 200 110 50| 5 4 3NS+1 #2430 80 80|14 1 2¢V+1l v6 -110 100 6.0

4 3 INO-1 +3 100 50 11.0|13 6 3NN+1 44 430 80 80|15 7 INV+1L T -120 8.0 8.0
13 5 INV-1 v5 100 50 11.0|14 1 3NS+1 &5 430 80 80| 2 17 34 0= vA -140 40 120
15 6 INO-1 «5 100 50 11.0|15 7 3NN= «3 400 40 120| 3 10 34 O= *K -140 40 120
17 1 INV-1 v7 100 50 11.0| 2 17 2NS+2 42 180 20 140|116 11 24 O+1 YA -140 4.0 12.0
18 8 INO= *8 -90 0.0 16.0|16 11 24 S= vQ 110 00 16.0|12 8 24 O+2 &K -170 0.0 16.0
13 475 14 3 15 « Knl106
Nord vE72 Ost v EKD108 Syd v E965
Alla ¢ EKKn8 Ingen ¢ E52 NS ¢ KD102

#KKn63 #6542 *K2

« D6 4 EK10832 454 4 EKKn9872 4 K53 49874
vDKn5  v¢K v Kn7 v5 vD1043 vKKn2
¢ 1095 ¢ D6432 ¢ KKn1073 ¢ D84 ¢E ¢ Kn953
#109742 #D #D1073 #KKn #E9743 D6

& Kn94 « D106 «ED2

v 1098643 v 96432 v87

7 +96 ¢ 8764

#E85 #E98 #Kn1085

Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang

4 11 4v S= «Q 620 160 00|14 2 54DO-2 #A 300 160 00|15 9 24 0-3 v8 150 16.0 0.0

7 13 44 O-3 «3 300 140 20| 1 9 44 0-1 +9 50 100 6.0| 5 12 INS+1 #3 120 140 2.0

6 5 44 0-2 ¢7 200 110 50| 6 5 440-1 v2 50 100 6.0| 7 6 1¢ S= v3 70 120 4.0
18 10 44 O-2 ¢7 200 110 50| 7 13 44 0-1 v2 50 100 6.0|14 3 240-1 *4 50 9.0 7.0

1 9 4vS-1 «Q -100 70 9.0|16 12 44 O-1 v2 50 100 6.0(17 4 24 0O-1 +4 50 90 7.0
14 2 4vS-1 «Q -100 70 9.0|17 3 440-1 v3 50 100 6.0|11 18 24 V= *2 -90 6.0 10.0
16 12 24 O= v6 -110 40 120|15 8 4v N-1 aA -50 40 120|116 1 2¢ N-1 49 -100 4.0 120
17 3 3¢ S-2 «Q -200 20 14.0|18 10 5v N-2 oK -100 20 140| 2 10 2v V= *T -110 20 14.0
15 8 3¢S-4 «Q -400 00 16.0| 4 11 34 0= *A -140 00 16.0| 8 13 24 O+1 &J -140 0.0 16.0
16 « KD9842 17 « K954 18 « E87632
Vast v 95 Nord vE86 Ost v EK73
ov +D4 Ingen ¢ E4 NS + K62

#543 #K972 »-

& Kn6 « 105 46 «D72 « K4 « 105
YEKNn72 v6 vD10543 v972 v Kn5 v 982
¢ Kn1052 +¢ K86 ¢ D72 + K105 ¢1073 + D985
#KKn2  #ED109876 #10865  #DKn43 #DKn9763 #EKS52

«E73 « EKn1083 « DKn9

vKD10843 v KKn vD1064

¢ E973 + Kn9863 ¢ EKn4

*- &E #1084

Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
14 3 5#DO-2 4A 500 160 00| 6 1 44S+2 v4 480 150 10| 8 7 44 N+3 &K 710 140 20

2 10 3¢ N+2 v6 200 140 20|17 5 44 S+2 v3 480 150 10|13 9 44 N+3 #A 710 140 2.0

7 6 29vS+1 &2 140 11.0 50| 3 11 44 S+1 v3 450 70 9.0|18 12 44 N+3 #A 710 140 20
16 1 3vyS= &K 140 110 50| 4 14 44 S+1 v3 450 70 9.0| 3 11 44 N+2 #A 680 6.0 10.0

512 49 S-1 *2 -50 50 110 8 7 44 S+1 v3 450 70 90| 4 14 44 N+2 #A 680 6.0 10.0

8 13 44 N-1 v6 -50 50 11.0(13 9 44 S+1 v3 450 70 9.0|15 10 44 N+2 &K 680 6.0 10.0
11 18 3vS-1 &K -50 50 11.0|15 10 44 S+1 ¥3 450 70 9.0|16 2 44 N+2 #A 680 6.0 10.0
17 4 3v S-1 *2 -50 50 11.0|16 2 44 S+1 v5 450 70 90|17 5 44 N+2 &K 680 6.0 10.0
15 9 44 N-2 *A -100 0.0 16.0|18 12 44 N= 3 420 00 160| 6 1 44 N+1 #K 650 0.0 16.0
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464 20 @42 21 « KDKn
v ED85432 Vast v KKn7 Nord v K7652
+92 Alla + D10863 NS + K532
#Kn3 #D73 &9
4 EKKn10 498752 «4ED9  4Kn65 «E642 +10873
vKn v K9 vE8653 vD92 v 103 vE8
¢ 63 ¢ Kn107 ¢ Kn7 ¢ K95 +6 + E98
#EK10982 #D54 #K92 #Kn854 #K65432 #EKn107
«D3 # K10873 495
v 1076 v 104 v DKn94
¢ EKD854 ¢ E42 ¢ DKn1074
»76 #E106 «D8
Kontr Ut Res Poang Par Kontr Ut Res Par Kontr ut Res
6% V-3 vA 300 160 00|13 10 3v V-2 «4 200 00| 8 3 2¢v N+1 8 140 2.0
48 V-1 ¢9 100 140 20| 5 14 24 S= *J 110 20(13 11 2¢v N+1 «T 140 2.0
3y N-1 *4 -50 120 40| 4 12 3v V-1 a2 100 50(14 6 3vyN-= «A 140 2.0
4y N -2 *Q -100 80 80|18 1 3aV-1 v2 100 5017 7 44 V-2 *9 100 6.0
4y N -2 *4 -100 80 80| 7 2 24S-1 vA -100 80|18 2 4v N-1 T -100 8.0
4y N -2 *Q -100 80 80|11 15 2vV+1l 4 -140 100| 5 1 4eV= oK -130 13.0
3¢DS-2 &K -300 40 120| 9 8 2vV+2 44 -170 12010 9 4aV= «Q -130 13.0
4e V = vA -620 10 150|17 6 24 S-2 &2 -200 140(12 15 48 V= oK -130 13.0
4a V= vA -620 10 15016 3 34S-3 vA -300 16.0|16 4 44V-= oK -130 13.0
# 109875 23 «D10 24 « EK97
v9 Syd v 9865 Vast v 1097
+ ED84 Alla + 863 Ingen ¢ K87654
£642 #KKn54 *-
« EK32 & DKn4 4E543  4KKn76 D 4 Kn853
vED10842 vKn73 vD102 vEK4 vE6 v D832
o7 ¢ Kn6 ¢ EKKn2 ¢ D1074 ¢ EDKn9 *3
*E9 #DKn1085 *82 *E7 #EKDKN94 #10865
46 # 982 # 10642
v K65 vKn73 v KKn54
¢ K109532 ¢ 95 ¢102
#K73 #D10963 &732
Kontr Ut Res Poang Par Kontr Ut Res Par Kontr ut Res
17 7 5vV-2 v9 200 150 10| 5 16 3¢ V+2 4Q -150 . 00 9 4 5&V-1 LY 50 1.0
18 2 5vV-2 ¢A 200 150 10|14 7 44 0+2 ¢ -680 . 3.0[(12 13 5& V-1 +4 50 10
14 6 4¢ S= A 130 120 40|15 1 44 0+2 9 -680 30 30|14 7 3&V+l aA -130 4.0
8 3 4v V= oT -620 70 90| 6 2 3NO+3 %6 -690 80 80|11 10 3&V+2 A -150 8.0
10 9 4v 0= *A -620 70 90| 9 4 3NO+3 %6 -690 80 80|15 1 3aV+2 4A -150 8.0
13 11 4v V= T -620 70 9.0|11 10 3NO+3 3 -690 80 80|18 3 3&V+2 A -150 8.0
16 4 4v V= oT -620 70 9.0|17 8 64 O= v7  -1430 30 130| 5 16 5#V= oK -400 13.0
5 1 4vyV+l ¢A -650 20 140|18 3 64 O= &3  -1430 30 13.0| 6 2 5#V= oA -400 13.0
12 15 4y V+3 a7 -710 00 16.0|12 13 6NO= 3 -1440 00 16.0|17 8 S5#V+1l @A -420 16.0
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